N of reco track vs pT N of associated (recoToSim) tracks vs pT N of associated (recoToSim) duplicate tracks vs pT

¢ g g
g g g
s g g
E 8 810
S
=]
o
1072
10°°
8 2 8
3 3 3
14 4 14
(O R T T EEE PP PP
PN A E Rk AE5 A RRNE JARRRUNN RN N
‘o= 1 1I0 2 2 *To* 1 1I0 02 ? 10% 1 1Io 7 ?
trag‘lg P, (Ge\;')0 trag‘l? P, (Ge\}f) tra&l? P, (Ge\}f)

o] —— DOM-RKEI I RAShY2 wPL eiter ep3

[

(%)
4
[5)
s

% e % % .........................

© I © I
= s =
S g 2

510° = S 10
=3
=]
°

1072

| 10°°
g I|I I|I|I|I| IIEI I| £ 1o e £ g
8 S 105 ki 5
b o« il ||| m | "Ei e o«

i u
- 0.95 i " : : : :
0.8! 0.9 o i i i i i
=3 3 =3 —2 -1 1 J =3 -2 -1 0 1 2 3
track n track n track n
N of reco track vs phi N of associated (recoToSim) tracks vs phi | N of associated (recoToSim) duplicate tracks vs phi_|

i : L 9 g
[=] N N Q [} Q
g T S i S 8 s g
= . . 5 = =
. . ] 2 2

fo----- P EEEEE LR [EREREY = 8 810’
: o
3
°

Ratio




	Contents
	Page 1


